
ΛΥΣΗ 

α) Αφού ( )( )1 1 0 − −  , οι ( )1 −  και ( )1 −  είναι ομόσημοι, οπότε: 
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Σε κάθε περίπτωση το 1 είναι μεταξύ των   και  .  

β) Διακρίνουμε δυο περιπτώσεις: 

i. Αν 1   , τότε: 

0 < 𝛼 − 1 ⇒ |𝛼 − 1| = 𝛼 − 1,  

0 < 1 − 𝛽 ⇒ |1 − 𝛽| = 1 − 𝛽 και  

𝛽 − 𝛼 < 0 ⇒ |𝛽 − 𝛼| = 𝛼 − 𝛽 άρα, 

|𝛽 − 𝛼| = 4 ⇔ 𝛼 − 𝛽 = 4. 

Οπότε: 1 1 1 1 4      = − + − = − + − = − = . 

ii. Αν 1   , τότε: 

𝛼 − 1 < 0 ⇒ |𝛼 − 1| = 1 − 𝛼,  

1 − 𝛽 < 0 ⇒ |1 − 𝛽| = 𝛽 − 1 και  

𝛽 − 𝛼 > 0 ⇒ |𝛽 − 𝛼| = 𝛽 − 𝛼 άρα, 

|𝛽 − 𝛼| = 4 ⇔ 𝛽 − 𝛼 = 4. 

Οπότε: 1 1 1 1 4      = − + − = − + − = − = . 

 


